TARGET To use a written method to divide TU by U.

Examples 68 ~ 4 68 68 - 4 17
(Chunking) —40 (10x4)  Shortdivision  4)678
28
—28 (7 X4 StepT 6 + 4 =1 remainder 2
0 28+4=7
Answer 17 Answer 17 |
Copy and complete. Work out Work out
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- ([ ]x5)
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@45-3 Psa-4 @ 1804 @ 144 =3
©® 702 ©36:2 @543 @128:-8 P 72:6
N ]:]7 l:o| (30 x 2) [17] Elaine has been @ One dose of medicine
e in her new job for is 10ml. A bottle holds |
HE 85 working days. 200 ml. How many |
= N R B2 She works 5 days doses does it hold? |
S each week. How
0 many weeks has she @ Eight people can sit on
Answer = | |[ ] worked? one row of chairs. How
: : many rows are needed
Work out @® Abike costs £29. for 104 people? |
L s _—_ How much will it cost |
© 60 - : € 80 +5 in a half price sale? @ A party of 162 children
O42+3 M62+2 (D Cardsaresold in is divided equally
boxes of 4. How between three coaches.
©@s52-4 @ 51+3 many boxes are How many children are
_ needed for 64 cards? in each coach?
Q34+2 Pr2+4 |
¢€X) Three lollies cost €X) Potatoes are sold in |
@o6+3 @ 75+5 87p altogether. How packs of 4. How many |
much does one lolly packs can be made |

©Qc0+-4 @ 58+2 cost? from 148 potatoes?




